ST-21 RRBPO (PRE) 2020

Passage for Question 1, 2, 3, 4, 5 (ST-21RRBPOPRE(1-5R)2020)
eng Passage

Study the given information carefully and answer the following questions.

There are ten persons M, N, O, P, Q, R, S, T, U and W living in a ten-floor building, such that ground floor is numbered as 1, just above the floor is numbered as 2
and so on the topmost floor is numbered as 10, but not necessary in the same order.

R lives immediate above M, who lives on an odd numbered floor. Q lives on one of the floors below P. Only three persons live between N and U. There is only one
floor in between T and W. P does not live on top floor. Q lives on an odd numbered floor above W but not on seventh floor. U lives below the floor on which N
lives. T lives above the floor on which W lives. O lives on an even numbered floor above N but not on top floor. N lives on the 5th floor. Number of persons lives
between M and N is same as number of persons lives between R and P.

hi Passage

TS ATAHT FTEATTLAF SAeTFT < off T Frwfofaa w1 % 39

T AREM, N, O, P,Q,R, S, T, U 31T W aH Hforer it =0T § T2 &, o s[aet &1 | F =7 § {47 1a7 2, 396 3¢ ¥ 7ioret 7 2 sf¥ qa sy
Hforer i "ear v 10 Fm7 srar 8, A 2 w79 J sraege 72t 2

R, M & 3T T LT 8, ST fauw gt areit i uw Tar g1 Q, P 3 A= Fohet ot 7% TgaT 81 Fhaet a9 =4f<F N siT U &= § Tga 81 T3hT W F o
Fa U Hiorer g1 P o a1 U< 71 @1 81 Q, W F ¥ Ua fare Hwer areft #ioer U TgdT 8, AT J1aal #§isre ¥ qgi| U 39 "iorer & $=r wgar g
S T2 N T2aT 81 T 39 59 ¥ 39% TgaT & S| 9% W TgaTt 21 0, N F 39 U 97 €&AT aTel Hiore 9% TgaT ¢, s o qer a2 /i1 N, 5 =f 5forer
U TEAT 81 M 3T N F = =<1 T ST, R 37 P % o= A1 T T F 99749 2|

Q-1 Who among the following lives on floor 4?

eng
01. p 02. R
03. T 04. M

05. None of these
Q-1 3 § & e 440 wiorer ux wgar g2

hi
01. p 02. R
03. T 04. M
0.z & 78 T
Solution for Question 1
eng Floor Persons
10 R
9 M
8 o
7 S
5] P
5 N
a T
3 L]
2 W
1 u
hi Hisr= ===
10 R
=2 N
8 o
7 s
s P
= ~
<1 T
3 L
=2 vV
1 | ]



Q-2 Which of the following floor does M live?

eng
01. 10 02. 8
03. 6 04. 7
05. 9

Q-2 M frferfea # & g wforer e wgar 82

hi
01. 10 02. 8
03. 6 04. 7
05. 9

Solution for Question 2

eng Floor Persons
10 R
9 M
8 O
7 s
& P
5 ]
4 T
3 o
2 wW
1 U
hi HTst=r ==at=F=x
10 R
=2 nA
a L
7 =
= P
5 rd
<3 T
3 Lan
= vV
1 s
Q-3 Who among the following person live immediately above to S?
eng
01. U 02. R
03. Mm 04. O
05. T

Q-3 eferfea & & i ar ==1f~F S F Ta Faw war &2

01. U 02. R
03. M 04. O
05. T

Solution for Question 3

eng Floor Persons
10

o

= N W kO O N @
C$SPH42T700Z7

'
k



Csp4z1002

How many persons are lives between P and R?

01. One
03. Three

05. Five
P 317 R % = faraw =afer g 82

‘Which of the following is correct?

01. S—1
03. M-9

05. w-38
o i g FA-ar qEr 22

01. S—1
03. M-9
05. w-38




SN WA OO N
Csp-427T0,|

hi =HTra =at=Faa
10 R
L= n
= o
7 =
s P
5 r~
<1 T
3 L
=2 AYATS
1 (=

Passage for Question 6, 7, 8, 9, 10 (ST-21RRBPOPRE(6-10R)2020)
eng Passage

Study the following information carefully and answer the given question.

M, N, O, P, Q, R, S and T are sitting around a circular area at equal distance from each other, but not necessarily in the same order. Four of them are facing the
centre while four face outside (i.e., in a direction opposite to the centre).

Q sits second to left of S. R is not an immediate neighbour of Q and T. R and Q facing the same direction. O sits to the [immediate left of R. Only one person sits
between P and R. Q is facing outside. Q sits third to the right of T. S is neither immediate neighbour of M nor O. Immediate neighbours of S faces opposite
directions (i.e. if one neighbour faces the centre than the other faces outside and vice-versa). M faces the same direction as N (i.e. if N faces the centre than M also
faces the centre and vice-versa). Q and P are not an immediate neighbour of M. Immediate neighbours of P faces same directions (i.e. if one neighbour faces the
centre than the other also faces the centre and vice-versa).

hi Passage
fafafaa sTasTia 1 eaed s gegaa # A TA= & 13 vl F sacdfm)

M, N, O, P, Q, R, S 31T T U g8 F THIA T IT U FATHIT U & AT AT A5 &, AThd STET Al 1% THI 77 § gl STH F 9T 4% 6T AT 39 77 &,
ST AT F% T AT T AT I T2 3

Q, S F FTT & TAEY T I 3T gl R, Q 3T T &1 Mefead TSt 981 g1 R Q U& &f Rem HI@ @ €1 O, R F A arfi ST F27 81 P T RF A=
FAT TF ATE JoT gl Q FF H ATEL T AT g@AT gl Q, T 3 FTAT ST AT 81 S T AT M FT 37T T &1 O ieeaw T=THT 1 S F qeshrer T=re fearodia faerrady
H I g (I TfE U TR A% T AT T@AT g a1 g AR % F1gY <=7 g o T6Eh fAaE)l M, N % g9 R § 3@t § (orta 7fe N wT aw i $ie
TEAT & a1 M & St 3T f3erm 7 T@ar g oY 8 [Aad)| Q ST P, M F TohTel =TT deil &1 P % qid TSI6l UF gf [3ermshi § 3@ g (AT AT TF T2rEr
5 T ST T@AT g AT O o Fg ¥ ST I@ar g o7 T@F fAadd)|

Q-6 Who sits exactly between M and Q when counted from the right hand side of M?

eng
01. N 02. O
03. p 04. R
05. S
Q-6 ST M % 3T T F FA1 S J@ M T Q F 31 Hed i o7 872
hi
01. N 02. O
03. p 04. R
05. S
Solution for Question 6
eng M
. T



S
Q-7 Who is sitting to immediate right of T?
eng
01. N 02. O
03. R 04. p
05. S
Q-7 T T TTH DI 957 82
hi
01. N 02. O
03. R 04. p
05. S
Solution for Question 7
eng M
R
0 S
hi
S

Q-8 What is the position of S with respect to P?
eng

01. Third to the left 02. Second to the left
03. Third to the right 04. Fifth to the right

0S. Seventh to the right
Q-8 P& HaH § S T T #4782



01. a3 =T 02. arrr\'rﬁ'gw
03. =13 & fraw 04. =13 T qi=aT
05. =13 & "raar

Solution for Question 8

eng M

R

0 S
hi
S
Q-9 Four of the following five are alike in a certain way based on the given seating arrangement and so form a group. Which is the one that does not belong to
eng the group?
01. R 02. T
03. Q 04. N

05. 0O
Q-9 et o= & F = [ T & UF 9979 § $iT UF 99g 917 81 98 UF i 97 § S 59 99g o aetedd qel 8?
hi

01. R 02. T
03. Q 04. N
05. O

Solution for Question 9

eng M

R

W

o
v



Q-10 Which of the following is true regarding N as per the given seating arrangement?
eng
01. Nisits third to the left of S 02. None of the given options is true
03. Nis facing outside 04. S is one of the immediate neighbours of N

0S. Only three person sits between N and P
Q-10 N Far # FHfriad # & F9-971 F99 97 82

01. N, S%amd ffaar 3218 02. i i et # & FrS qer T
03. N FTHE &g & aTgL A1 AT g 04. S NF AR ATTF G
05. N ST P ¥ 19 e AT AT 82

Solution for Question 10

eng M
R

Passage for Question 11, 12, 13, 14, 15 (ST-21RRBPOPRE(11-15R)2020)
eng Passage

Study the following information carefully and answer the given question.

7 persons C, G, H, D, P, Q and T visit a place in different days in a week, from Monday to Sunday but not necessary in the same order.
C visits the place in Wednesday. No person visits the place between C and G. At least 2 people visit the place before D.There are 3 people who visit the place
between P and Q. 4 people visit the place between H and D. P visits the place before Q. T does not visit the place on Sunday.

hi Passage

LA TEATTFTE FTLATYE F Te77T L o < Freforfaa w1 % 392

73a% C, G, H, D, P, Q 3t¥ T HHTE H AeWT-3eT faei § STHaTE F TEaTe a0 Uk £I19 U ST 8, TR 87 7 | 9T+ 7ai 2l
C FEATT FT I TATF T ATAT T2 AT &1 C 3T G F 1= s o STk 36 AT ¥ ATAT I A1 ST g1 D H Tgel FF F FH 2 6T 39 AT T JTAT I
ST 81 P 3T Q 3 = 3 RT F I AT T ITAT 9T 1A 21 4 ART H 3T D 3 = A= 9% 7 81 P, Q & Tl S #7199 S7aT g1 T T a7 39 &1+

I Tl ST gl

Q-11 P visit the place in which of the following day?



eng

01. Friday 02. Wednesday
03. Sunday 04. Thursday
05. Other than the given options

P Reterfed § | e e T F3ar 82

01. R 02. ECEIRE

03. 9™ 04. AT

05. o et & fore

Solution for Question 11

eng

Q-12

eng

Monday [P
Tuesday
Wednesday
Thursday
Friday
Saturday
Sunday

O /OO

YHAN
yfar
TR

Ol 1 O | O | O

Which of the following combinations is definitely correct?

01. G - Friday 02. H - Tuesday
03. Q -Wednesday 04. D - Thursday
05.  All the given combinations are definitely

correct

Freferfea sasmt § | Fi a1 [ =73 897 22

01. G - e 02. H - HE®

03. Q-gga™ 04. D - &
05. &<t far 0 et i =7 9 77 2

Solution for Question 12

eng

Monday |P
Tuesday
Wednesday
Thursday
Friday
Saturday
Sunday

O o || O




YHAN
yfar
AR

Ol 1 O | O | o

Q-13  How many person visit between H and Q?
eng

01. One 02. Five
03. Three 04. Two

05. None
Q-13  HTQ F =1+ e+ ATH ATAT 9T 1A 52

01. w=% 02.
03. = 04.
05. Fr< gl

Solution for Question 13

" |Monday |P
Tuesday
Wednesday
Thursday
Friday
Saturday
Sunday

i‘l}ﬂe

O /OO

YHAN
yfar
TR

Ol 1 O | O | O

Q-14 Four of the following five form a group as per the given arrangement. Which of the following does not belong to that group?
eng

01. Sunday-T 02. Tuesday —Q
03. Monday - H 04. Wednesday — D

05. Thursday — G
Q-14 =1 T =Eer & Sqar Muferad 0= § § 9% UF 99 a9 ¢ (9 § ¥ #1939 99 & qatad qol 8?

01. ¥fEEm-T 02. FreAEa - Q
03. HHa™ -H 04. I -D



05. &A™ -G
Solution for Question 14

" |Monday |P
Tuesday
Wednesday
Thursday
Friday
Saturday
Sunday

O —Oo ||

YFAN
yfar
LI

O | O | O T| O

Q-15  Who visits the place in Sunday?
eng

01. G 02.
03. p 04. D

05. Q
Q-15  fEaw &1 FIF AT F2AT 872

T

01. G 02. H
03. p 04. D
05. Q

Solution for Question 15

gmar (P
H

hi

PN
Jfear
{aR

O J O] & O

Passage for Question 16, 17, 18, 19, 20 (ST-21RRBPOPRE(16-20R)2020)
eng Passage

These questions are based on the following letters/numbers/ symbols arrangement. Study it carefully and answer the questions given below.

S90H@1F8X&*ZY2EM4QS$B#D3%SCA

hi Passage




7 v fAafafaa ssa</aeara/adiHi 1T ATEIT I AYTIT & | STHT AT F AeTIT L AT AT 32 13 w37t 6 SATAR™T-

S90H@1F8X&*ZY2EM4QS$SB#D3%SCA

Q-16 Four of the following five are alike in a certain way on the basis of their positions in the above arrangement and so form a group. Which is the one that does
eng not belong to the group?

01. HFX 02. EQB
03. 8*2 04. *2M
05. DSA

Q-16 f=fofad o= & & 9 ST =HaedT # st fufa 3 e 7% uF [AfHa s & uF 99 2 o UF 994 a9 ¢ 98 UF Fi9 97 2 S 39
hi T ¥ gHfead a8l 82

01. HFX 02. EQB
03. 8*2 04. *2M
05. DSA

Solution for Question 16

eng HHF3)F(+2) X
E*3)Q(+2)B
8(+3) * (£3) 2
*(#3)2 (+2)M
DH3)S(+2) A

hi HH3)F(+2) X
E*3)Q(+2)B
8(+3) *(+3) 2
*(+3)2 (+2) M
D (+3)S (+2) A

Q-17 How many such vowels are there in the above arrangement each of which is immediately preceded by a number and immediately followed by a symbol?
eng

01. None 02. One
03. Two 04. Three

05. More than three
Q-17 ST AT § UH o w97 & e & 0% & qEd T8 UF §&dT oY G 918 UF T 82

hi
01. =r$ =gt 02. TF
03. v 04.
05. o 7 srfer

Solution for Question 17

eng SOOH@IF8X&*ZY2EM4Q$B#D3%SCA

hi SOOH@IF8X&*ZY2EM4Q$SB#D3%SCA

Q-18  Which of the following element is ninth to the right of fourteenth element from the right end?
eng

0. @ 02. 3
03. 1 04. D

05. None of these
Q-18 [wffed ® & F19-971 9 a4 BT ¥ Fl2ed & 213 14T 9 82

hi
0. @ 02. 3
03. 1 04. D
05. =% T FIS AT

Solution for Question 18

eng SOOH@I1F8X&*ZY2EMA4QS$B#D3%SCA
Right + Right = (-)



14-9=5

hi 590H@1F8X&*ZY2EM4Q$B#D3%SCA
AT + =TT = ()
14-9=5

Q-19 How many such consonants are there in the above arrangement each of which is immediately preceded by a symbol and immediately followed by a vowel?
eng

01. None 02. One
03. Two 04. Three

05. More than three
Q-19 ST =TT § UH T 2o & S & T00F F qEd Ted UFH T S Qid 918 U w97 22

hi
01. =5 s 02. wF
03. av 04. T
05. o 7 srfer

Solution for Question 19

eng SOOH@IF8X&*ZY2EM4Q$B#D3%SCA

hi S9OH@1F8X&*ZY2EM4Q$B#D3%SCA

Q-20 If all the symbols in the above arrangement are dropped then which of the following will be the twelfth from the left end?
eng

01. 2 02. E

03. F 04. v

05. M
Q-20 ST FFEAT § e aedt Tt A ger T S A e # & Fi /7 7 ¥ aegat gem?
hi

01. 2 02. E

03. F 04. vy

05. M

Solution for Question 20
eng S90H1F8XZY2EM4QBD3SCA
hi SOOH1F8XZY2EM4QBD3SCA

Passage for Question 21, 22, 23, 24, 25 (ST-21RRBPOPRE(21-25R)2020)
eng Passage

Study the given information carefully and answer the following questions.

Six persons A, K, Q, T, Y and Z are from different places of India i.e. Lucknow, Mumbai, Pune, Kanpur, Bhopal and Delhi. They all have cars of different number
plate; UP31, UP32, UP33, UP34, UP35 and UP36 but not necessarily in same order.

Z have UP33 and he is from Bhopal. The one who have UP32 is not from Delhi and Pune. T isn’t from Pune. A is from Kanpur. The one who is from Mumbai have
UP35. Q have UP36. The one who is from Pune doesn’t have UP36. A doesn’t have UP31 and UP32. Y is not from Pune and Lucknow.

hi Passage

LA TEATTFTE FTLATYEF Te77T L o T Frafofaa w1 % 392

Z: ARE ALK, Q, T, Y 3T Z AT & ATHe wmt I+ oT@wss, {as, 0T, FIAYE, AT 1 faeett & g1 37 T o I ST91-31eRT Fa7 T il T 3,
UP31, UP32, UP33, UP34, UP35 31T UP36 ofehe ST&<T Aal o THT FH | 2l

Z % 98 UP33 g 3T ag 9T & g1 S ame UP32 &, a8 el sz qur & 921 81 T Y0 A 751 gl A FEIL H g1 ST {as 9 2, 39+ 919 UP35 81 Q & 919
UP36 € ST 01 | g, 38 919 UP36 el g1 A % IT8 UP31 3fi¥ UP32 &l g1 Y 0 3T A&+, 7 =1 &l

Q-21  Who among the following is from Pune?
eng



01. K
03. A

05. Q
Q21 Frafrfum & # g a3

01. K
03. A
05. Q
Solution for Question 21
cug A |UP34 | Kanpur
K |UP31|Pune
Q | UP36 | Delhi
T |UP32 | Lucknow
Y |UP35 | Mumbai
Z | UP33 | Bhopal
hi A [UPH [gmar
K |UP3f W.».
Q |UP36 %ﬁﬁ
T P32 |qgms
Y |UP35 ;‘Fg
Z |UP3 |y

Q-22  Which combination is correct?
eng

01. K -UP31 - Delhi
03. Y —UP35 - Mumbai

05. Q- UP36 - Lucknow
Q-22 T A1 HASA 2l &2

01. K - UP31 - faeet

03. Y- UP35-Hag

05. Q- UP36 - @3,
Solution for Question 22
cng A | UP34 | Kanpur
UP31| Pune
UP36 | Delhi
UP32 | Lucknow
UP35 | Mumbai
UP33 | Bhopal

N =< H D =

UP34
UP31
UP38
UpP32
UP35
UP33

N =< 1 o = =

IESEIFAReE

02.
04.

02.
04.

02.
04.

02.
04.

T —UP33 - Kanpur
A —UP36 - Kanpur

T - UP33 - FAX
A — UP36 - YT



Q-23  Who among the following have UP32?

eng
01. K 02. T
03. A 04. 7
05. Q

Q-23 fAwfofea @ & e a9 UP32 872

hi
01. K 02. T
03. A 04. 7
05. Q

Solution for Question 23

cng A |UP34 | Kanpur
UP31 | Pune
UP36 | Delhi
UP32 | Lucknow
UP35 | Mumbai
UP33 | Bhopal

~N=<| H D =

UP34
UP31
UP38
UP32
UP35
UP33

Nl =< | O R >

IESEIEAREE

Q-24 Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?

eng
01. K-UP31 02. T-UP32
03. A-UP33 04. Y -UP35
05. Q- UP36

Q-24 TAwforfea ot # & 9 v [RfSrd w6 & UF S © o 2700 UF 9 9904 2| 98 T &7 8 S 39 q9YE F HA9d Tal 57

01. K- UP3I 02. T-UP32
03. A-UP33 04. Y —UP35
05. Q-UP36

Solution for Question 24

cng A |UP34 | Kanpur
UP31 | Pune
UP36 | Delhi
UP32 | Lucknow
UP35 | Mumbai
UP33 | Bhopal

N =< H D =

UP34
UP31
UP36
UP32
UP35

11037

= | O = ¥

EFIFRE

|



I i

Q-25  Who among the following is from Mumbai?
eng

01. K 02. T
03. A 04. Y

05. None of these
Q-25 T HTFTHasq8?

hi
01. K 02. T
03. A 04. Y
05. it & i T

Solution for Question 25

HaE A | UP34 | Kanpur
UP31| Pune
UP36 | Delhi
UP32 | Lucknow
UP35 | Mumbai
UP33 | Bhopal

N =< H D =

UP34
UP31
UP36
UP32
UP35
UP33

744 3%4

Passage for Question 26, 27, 28, 29, 30 (ST-21RRBPOPRE(26-30R)2020)
eng Passage

Read the following information carefully and answers the questions given below.

A,P,Y,Q,Z, W, Xand T are sitting in a straight line but not necessarily in the same order. Some of them are facing south while some are facing North.

Z sits to the immediate right of Q. Y sits third to the left of W. Only one person sit between Y and Z. Only one person sit between Q and P. Both the immediate
neighbor of Y face the same direction. W faces north. T sits third to the left of Z. Y faces the opposite direction of W. X does not sit any extreme end of the line. A
faces the same direction as Q. Only two people sit to the right of W. Both X and T face the opposite direction of P.

hi Passage

AL ATARIL FT LAY F areqqa w2 3 Fmforfera w1 % I

A,P,Y,Q,Z W, X ¥ T U Hieft dfxr & 9 € ofore STl Aal T THT 77 | i1 ITH & g M0 T 3¥ 39 T § T % 3¢ Al 3017 39 72 2l

Z, Q% A I ST F3aAT g1 Y, Wah arff & ey S2a1 81 Y #fi¥ Z % &1+ #ael UF AR 95a7 81 Q 37T P F = Fa« U =4f<F daa1 g1 Y F FEl
Reeqw T2THT UF g1 fRm &1 oY 7@ F7d &1 W 3L T 3l §@ F2ar g1 T, Z & a1 oY | &9 92 g1 Y, W T faodia fem 7 oie g #2ar g1 X
ufeh & freT o sifow B o 7] Joa1 81 A, Q & wHI fIem # T@ar g1 W 13 Fadl &1 @R 934 gl X 3T T IAT P T fadiq e i1 oY 9@ F7d g

Q-26  How many members facing in north direction?

eng
01. ¢ 02. 5
03. 4 04. 3
05. 2

Q-26 g sfrat =1 g 3w fRar § &2



01. ¢ 02. 5
03. 4 04. 3
0s. 2

Solution for Question 26

2045 A P Y Q Z W X T
{ @ { ft
v LV LR
= A P Y Q & W X T
f @ { ft
v U R
Q-27  Who among the following person sits 3rd to the right of P?
eng
01 y 02. Q
03. 7 04. X
05. W
Q-27 AwfafEd § & F19 AfE P % T3 THL T T2 925a7 82
hi
0. y 02. Q
03. 7 04. X
05. w
Solution for Question 27
eng A P Y Q & W X T
{ ft f ft
v ¢ R
hi A P Y Q Z W X T
f ft { ft
¢ 0 v
Q-28  Find the odd one out from the given alternatives.
eng
01. X 02. T
03. Q 04. W
05. p
Q-28 Ty fomedi & & 38 9 7 o= 21
hi
01. X 02. T
03. Q 04. W
05. p
Solution for Question 28
eng A P Y Q Z W X T
f ft f ft
v v v ¥
hi A P Y Q Z W X T
{ ft {t ft
v ¢ v ¥
Q-29  Which of the following member is sitting at one of the corner of the row?
eng
01. X 02. p
03. Q 04. W
05. A

Q29 Frmfrfer i & #i Ar =1f% 9% ¥ 0 G AT g B2

01. X 02. p



03. Q 04. W
05. A
Solution for Question 29

eng A P Y Q Z W X T
f ft {t ft
v U v ¥
hi A P Y Q Z W X T
{ @ { ft
v U R
Q-30  How many persons are sitting between A and Q?
eng
01. Two 02. Three
03. Five 04. Fourth
05. One
Q-30 AT QF 1+ o+ =AE 95 82
hi
01. =7 02. d
03. qf= 04. =TT
05. U=
Solution for Question 30
eng A P Y Q & W X T
{ ft f ft
¢ ¢ R
hi A P Y Q Z W X T
f ft { ft
¢ 0 v

Passage for Question 31, 32, 33, 34, 35 (ST-21RRBPOPRE(31-35R)2020)
eng Passage

In each question below are two/three statements followed by two conclusions numbered I and II. You have to take the two/three given statements to be true even if
they seem to be at variance from commonly known facts and then decide which of the given conclusions logically follows. Give answers:

hi Passage

= s woF § /A FAF T &7 AR T 1 3w 81 saeny i3 w3 /AT Fe w7 98 A 8 (AT F SrETeAa AT et asat F faE #7211 9 80
TAeHuT &7 9% 3T 3T T8 a7 Y 36 Fl | (Ao arfeha &9 8 G820 F:7d g1 I &ord-

Q-31 Statements:
eng Some AC are DC.
All CD are DC.
Conclusions:
1. All CD being AC is a possibility
II. NoCDisa AC.

01. ifonly conclusion I follows 02. if only conclusion II follows.
03. if either conclusion I or conclusion IT 04. if neither conclusion I nor conclusion II follows.
follows.

05. ifboth conclusion I and conclusion II follow.

Q-31 =9

hi T AC, DC &l
T+ CD, DC 2|
o

I @3t CD % AC 219 &Y Ua T97a=T 3|
IL #T< CD, AC 7IE1 81



01. =f% Faer e [ e Far 8 02. 7fT Faer Ao 1 e F2aT &
03. =fE 77 a7 fAewd [ o7 Ao L argaeor 04, 7f 7 o7 Ao 1377 71 €1 o 11 sraeor #7ar 21

FAT 2
05. rfy e 1 &< Aoy 11 2T StaeoT
FA 2
Solution for Question 31
eng
hi

Q-32  Statements:

eng Only few CD is AC.
Some AC are DC.
All DC are DVD.
Conclusions:
I. NoDVDisaCD.
II. Some DVD are CD.

01. ifonly conclusion I follows 02. if only conclusion II follows.
03. if either conclusion I or conclusion IT 04. if neither conclusion I nor conclusion II follows.
follows.

05. if both conclusion I and conclusion II follow.
Q-32 FUm:
hi Fa9 FZ CD, AC &l

FZ AC, DC gl

T+ DC, DVD 2|

Ao

I. S DVD, CD 7&t 2|

IL. %= DVD, CD g

01. =fx Faer fAehd [ SgaeoT Far 2 02. Ifz Faer fAewd 11 STa FaT &l

03. g 7T ar Aoy [ a7 Aesd aqaeor 04, 7fe 7 a7 o 1 e 7 81 Ao 11 srqaeor #:7ar g
FAT B

05. 7f fAea [ sf¥ At 11 3T s
FA Bl

Solution for Question 32

—
=




Q-33  Statements:
eng NoCDisaAC.
Some AC are DC.
All DC are DVD.
Conclusions:
I. All CD being DVD is a possibility.
II. No CD is a DC.

01. if only conclusion I follows 02. if only conclusion II follows.
03. ifeither conclusion I or conclusion II 04. ifneither conclusion I nor conclusion II follows.
follows.

05. ifboth conclusion I and conclusion II follow.
Q-33 =g
hi &S CD, AC 7IET 2l

@ AC, DC &l

Tt DC, DVD 2l

IELEA

I. &sft CD % DVD g il Tsh H979T 21

IL #T< CD, DVD 7E!l gl

01. {3 Faer Ao [ STEw F2aT gl 02. fy Faer Ao [T TEeT F3aT 8
03. g a7 ar Aoy [ 37 Aead aqaeor 04, i 7 a7 o 1 e 7 81 Ao 11 srqaeor #7aT g

FAT B
05. =rf et [ e Ao [ 31 g
FA Bl
Solution for Question 33
eng
hi

(=

Q-34  Statements:
eng All AC are DC.
Some DC is a CD.
Only few CD are DVD.
Conclusions:
I. Some DVD are not AC.
I1. All DC being DVD is a possibility.

01. ifonly conclusion I follows 02. ifonly conclusion II follows.
03. if either conclusion I or conclusion II 04. if neither conclusion I nor conclusion II follows.
follows.

05. ifboth conclusion I and conclusion II follow.

Q-34 =9

hi Tt AC, DC 2
Fg DC, CD gl
a7 %5 CD, DVD &l
IRLED F

I. FB DVD, AC &l gl
IL &3t DC % DVD g9 &Y Tsh S91ET 2



. fT Fae Ao [ STEe 3T gl 02. f3 Faer Ao I1 STEeT F2ar gl .
. Ffz A Aewd a7 Fowd Hesgeeor 04, 7fe 7 91 o [ 37 7 &1 ey 11 1820 FdT 2|

FAT B

. 7t Aoy 1 &ire e 11 2T sTEeor

FLT 2

Solution for Question 34

(e
(e

Statements:

All AC are DC.

Some DC is a CD.
Only few CD are DVD.
Conclusions:

I. No ACisaCD.

eng

Q-35

eng

II.

All AC being DVD is a possibility.

- if only conclusion I follows 02. if only conclusion II follows.

. ifeither conclusion I or conclusion 1T 04. ifneither conclusion I nor conclusion II follows.

follows.

. if both conclusion I and conclusion II follow.

HI:
Tt AC, DC &

Fg DC, CD gl

#Fa9 FZ CD, DVD 2l
IRLEO P

L F:TE AC, CD 7=1 2|

1L

adt AC ¥ DVD g ¥ T F91aT 2

. FTE Fae Aoy [ ST 2T & 02. 7T Faer Ay 11 SATE0T F3aT 2

. AR AT Ao 137 Aowd Hageeer 04, 7fe 9 7 o [ 37 7 &1 ey 11 19820 w7 2
FAT B

. Tt e 1 =Y Ao 11 2T g
FA Bl

Solution for Question 35

eng

DC .
DC .

Passage for Question 36, 37 (ST-21RRBPOPRE(36-37R)2020)
eng Passage

Study the following information carefully and answer the questions given below.



A person walks 20 km towards north and now he turns towards his right and walks 15 km. Again he walks 5 km towards his right. Again he walks 10 km towards
his left. Finally he turns right and walks 15 km.

hi Passage

fafafaa ITasTd #1 samgd® Aegaa w qAT A FFTIg st F 3T

TS STk I T AT 20 THHT Forar 8 i< o1 ag o a1 ST q2ar g o 15 T =3erar g1 {2 | a8 o a1t e qear ¢ sie 5 foredt =rerar 81 fre &
g AT AT ST {=AT ¢ 37T 10 T Frar g1 oid & a8 270 qEar § o< 15 Bt Ferar g1

Q-36  Inwhich direction is he from his last point?

eng

01. North-cast 02. East

03. West 04. South-west

05. South
Q-36 =g v+ sifaw feig & foner fRem 7 22
hi

01. ?ﬁr{.‘:f;f 02. T;f

03. g2y 04. zferor-afam

05. =feror
Solution for Question 36
eng

15 "
‘ 5
M
10

20 15

hi
15 "
‘ 5
M
10
20 15

Q-37  Atwhat distance is he from the starting point?

eng
01. 12km 02. 15km
03. 10km 04. 25km
05. 9km
Q-37 =g gt 695 7 fhadr g aw g?
hi
01. 12 fefy 02. 15 et
03. 10 frefy 04. 25 foefy
05. o fafr
Solution for Question 37
eng
15 @
’ 5
A b
o~
20 15
W




Q-38

eng

10

In a coded language WORDS is written as BJIGUF then VIEWS will be coded as .

01. PCTBF 02. CPTFD
03. CPBTF 04. CPTBF
05. CTPBF

TF IS ATIT H WORDS FT BJGUF for@T STaT g ar VIEWS &1 F®Y T FITST AT SATUm

01. PCTBF 02. CPTFD
03. CPBTF 04. CPTBF
05. CTPBF

Solution for Question 38

eng

hi

Q-39

eng

Opposite letters -2

TIoa 3787¢ -2

If each consonant in the word “PETROWIN” is changed to the previous letter in the English alphabetical series and each vowel is changed to the next letter
in the English alphabetical series, and then the alphabets so formed are arranged in an alphabetical order from left to right, which will be the fourth from the
left?

01. M 02. p
03. O 04. J

05. None of these

T2 9158 “PETROWIN” F TeI# ST &l SUSHT AUHTAT G@AT % TUgel 9% § T8 (AT SITaT & 37T TAF €a< T SRS AHTAT et | o9re
FEAT § e (AT ST 8, 3T T am a7ey 31 &7 Fui9TaT o % § a7 T 9 273 < sAateerd 3T et g1 9aTe0 ST S F ST i a7
grm?

01. M 02. p
03. O 04. J

05. =% F AL T

Solution for Question 39

eng

Q-40

eng

PETROWIN
OFSQPVIM
FIMOPQSV

PETROWIN
OFSQPVIM
FJIMOPQSV

How many pairs of letters are these in the word “PETROWIN” each of which has as many letters between them in the word as in the English alphabetical
series?

01. None 02. One
03. Two 04. Three

05. None of these
5% “PETROWIN” & UH Fohaer s7ea< & W12 8 o o= ore2 # Ia+ 2t o1 ¢ oy FoF S ey SISt aore et # 974 571 82

01. 75 7& 02. T
03. =7 04. qF

05. i i AvE



Solution for Question 40

eng

Q-41

eng

[—
PETROWIN
I

[ —
PETROWIN
I

The speed of Boat in still water is 35Km/h and speed of the stream is 15km/h. The distance between Gomatinagar and Ghazipur is 800km. The boat
started travelling in downstream from Gomatinagar to Ghazipur and in the midway, it is powered by an engine due to which the speed of boat increased.
Now boat reached Ghazipur and starts back to Gomatinagar with help of the same engine. Total time taken in entire journey is 29 hours. Then find the
increment in speed of boat due to this engine.

01. 30km/h 02. 28 km/h
03. 40 km/h 04. 35km/h

05. None of these

o St ® A Y i 35 ey / wieT B ofr emer it wifa 15 Rt/ =ie &) irefieeTe e rsfrqe & = i 337 800 3t 81 /e 3 e |
TSI T ST 77 ¥ 9T | ATAT 0% A, ATAT 6 7T § 38 TF o1 g1 ST AT 2, e H107 91 67 M 98 T| 1 71 TSI Tg =t
STY IHY TS T H2E | AT AT 6 2 T TEN TTE T ATAT H HoT 0T 29 5 TSN AT IH S99 % HIL0T 719 [ 1d H gz A1
EIER

01. 30 et/ e 02. 28 e/ 5aT
03. 40 e/ 5T 04. 35 e/ 5ar
05. =% ¥ H1E TE

Solution for Question 41

eng

Q-42

eng

increment in speed =speed of engine=x km/h(let)
400 400 800
Then 29 =

35415 50+x 2Z20+x

204+x+100+2x
= —————=>x=30km/h
(504x}(20+x)

T # Ffg = 35 shi ThT = x TRt / wieT (AT
400 400 800
35415 S504x 204x

204x+100+2x .
29-g= S TATIIRRAY o o = 30 foRdiERT
(504+x)(20+x)

9-8

dd 29 =

Kartik can do half of the work which Akhil can do in one sixth of the time as compare to Kartik, if Sandeep is 25% less efficient than Akhil, working
together they can complete the work in 12 days. Then find that the work will be finished in how many days if Kartik works with his double efficiency and
Akhil work with his half of the efficiency?

01. 22 days 02. 25 days

03. 33 days 04. 28 days

05. None of these

T I HTH T AT GFT & FAT g ST AT FTlcrah =l a1 | 1/6 THT H FT Tl g, IR HGIT 0o il qaqT § 25% FF A &, O TH
T TR T2t o 12 T&7 | F1H T 7 T 2| T2 I ST Tl F&TaT o |1 HTH ST ST ST1 SMreft FEAHAAAT F AT FIH HE AT H1H
[ERERECIR IR AR 1DV

01. 22 f 02. 25fe+
03. 3379 04. 28 fae
05. =77 F F1E T

Solution for Question 42

eng

KxT _ AxT/e

w2 w

12K=A
K:A=1:12

Sandeep is 25 % less efficient than Akhil hence the ratio of their efficiencies
K:A:S= 1:12:9
Work done in 12 days =22x12



Q-43

eng

Q-43
hi

Now Kartik works with his double efficiency and Akhil work with his half of the efficiency
No. of days = _22¥12 =33 days
-]

KxT AxT/6

wiz  ow

12K=A

K:A=1:12

HeT ARG 1 G 7 25% FH I & FATIE IThT ST HT ST

K:A:S= 1:12:9

12 fet o fopam mam s = 22 % 12

319 Ffieh ST GN[AT I&TAT o |1 hTH HLAT & T TGS STUHT TER T&TqT % TTel 1T HLAT § Al
fomt Y wE= % =33fe

Two businessmen Sandeep and Ajeet invests a amount of 101500 together in a certain scheme , Sandeep invests for two year and Ajeet invest for four

year at the same rate of interest of | 21 %. After the completion of the maturity period they got same interest. If interest compounded yearly find amount
2

invested by Ajeet?
01. 44700 02. 44800
03. 56700 04. 65700

05. None of these
T AT T 3T st U RS Freer § v /e 101500 F7 HEer w7 g, GErT &7 are o6 fory fREer wear g sie sefta = A+ o

Tt T TT | 22 Y. T T AT FAT E1 TR AT T S 3 AT o8 AT SATST (oA A et £ T arfiiE wwg i = i ¥ 9 A
2
arsfia greT fAarer iy 7 Trfer e rforr?

01. 44700 02. 44800
03. 56700 04. 65700
05. AR AFIS :rg?r

Solution for Question 43

eng

Q-44

eng

Q-44
hi

Let the share of investments made by sandeep and Ajeet are x and y
; 1,_ 1,
X1+ i 1+ )

x 81
y 64
Investment of ajeet = 101500x64 _ 44800

145

AT T T T fZEAT x ST et &1 fReary 8

, 1._ L
)\{14’8) —Y(1+8)

e 81
y 64
3Fstie oh1 Foarar = 101500%64 _ 4480

145

A sum of Rs. 564 is divided among 150 students so that each boy gets Rs. 5 and each girl gets Rs. 2. What is the total number of boys?

01. 78 02. 88
03. 84 04. 86
05. 81

T TTFA 564 F. &7 150 FTAT F 7T 28 TH1E F fFaia B s avfe goi d= #1 5 F. 3T T A6l A7 2 &, T g7 a1 /A A= T 5edr
FIT 82

01. 78 02. 88
03. 84 04. 86
05. 81

Solution for Question 44

eng

Let the number of boys and girls x and y respectively.
x+y =150 @

5x +2y =564 (€0))

From (I) and (II),



x =88
hi AT A 1T AT 6T TAT HH: x 3T y &

x+y =150 @
5% + 2y = 564 (IT)
(I) 3T (¥,

x =88

Q-45 Four cows are tethered at four corners of square field of 28 m. side such that each cows can just touch it adjacent cows. What area of the field will remain
eng ungrazed?

01. 178 m2. 02. 172 m2.
03. 168 m2. 04. 166 m2.
05. 170 m2.

Q-45  TF TR HIF [SrEeht 11 28 W, & 387G AT hAT2l 92 I 7 W1 ATl STl & 1o Tedeh T ST FHIT T T £ FT b qr G317 T
hi TR FAT G ST T 1T Tl =27 47 82

01. 178 2 02. 17242
03. 168 12 04. 166 112
05. 170 2

Solution for Question 45

eng 22
28)° - ?x14xl4 =168cm*

22
(28)° - ?x14xl4 =168cm’

Q-46 ‘What approximate value will come in place of question mark (?) in the questions given below?

eng

52 of 140.28 + 2 = 800

2

01. 30 02. 40

03. 60 04. 50

05. 80
Q-46 fA=farfad woai & wraras g (2) F T 9% TETART F97 /19 ST 2
hi

140.28 T 52 + 2 = 800

=
b

01. 30 02. 40
03. 60 04. 50
05. 80

Solution for Question 46

eng ?=800—- 60
=40 (approx)

hi ?=2800 - 60
= 40 (FTTHT)

Q-47 What approximate value will come in place of question mark (?) in the questions given below ?

eng
32.11%25.92-26.81%24.99=?

01. 160 02. 15
03. 250 04. 55
05. 110

Q-47 Tt i § wraras g (2) F T 9% TRt #4971 /19 ST 2

hi
32.11x25.92-26.81%24.99=?



01. 160 02. 15
03. 250 04. 55
05. 110

Solution for Question 47

eng ?732x26-27%25, = 832-675=157
= 160 (approx)

hi ? = 32x26-27%25 = 832-675=157
= 160 (STITHIT)

Q-48 What approximate value should come in place of question mark (?) in the following questions?

eng
699.989+7.05-4.998%17.96+14.05%3.99-12.09=?

01. 54 02. 60
03. 48 04. 42
05. 64

Q-48 Awforfad vl | war=e =g (?) % I T TR F7 71 A2

hi
699.989+7.05-4.998x17.96+14.05%x3.99-12.09=?

01. 54 02. 60
03. 48 04. 42
05. 64

Solution for Question 48

eng 699.989+7.05-4.998%17.96+14.05%3.99-12.09=?
700 =7 — 5x18+14x4-12 =?
100-90+56-12=?
54=?

hi 699.989+7.05-4.998%17.96+14.05%3.99-12.09=?
700 + 7 — 5x18+14x4-12 =?
100-90+56-12=?
54=?

Q-49 What approximate value will come in place of the question mark (?) in the following question?

eng
142% of 649.98 + 77.07 =?

01. 600 02. 700
03. 800 04. 1100
05. 1000

Q-49 FwffEd w1 § wrar= e (?) F T 9% T F7 19 02

649.98 =T 142% + 77.07 =7

01. 600 02. 700
03. 800 04. 1100
05. 1000

Solution for Question 49

eng o 142850
P —mo— 77
?=1000

hi o 142xB650 _
? S50 77
?=1000

Q-50 What approximate value will come in place of question mark (?) in the questions given below ?

+3480.993 10.99="7

eng



01. 40 02. 48

03. 52 04. 58

05. 36

FrarferferT woit & weram=es g (2) 3 T 9% SRRt 9T /I AR 2
3480993 —1099="7

01. 40 02. 48

03. 52 04. 58

05. 36

Solution for Question 50

eng

hi

Q-51

eng

Q-51

hi

? =59-11 =48 (approx)
?=59-11 =48 (TN )

‘What should come in place of question mark (?) in the following questions ?

12, 36, ?, 150, 252

01. g0 02. 70
03. 64 04. 65
05. 67

fReferfed dem Jaer & wafees (2) % e a2 F347 S 2

12, 36, ?, 150, 252

01. 80 02. 70
03. 64 04. 65
05. 67

Solution for Question 51

eng

hi

Q-52

eng

Q-52

hi

PZEE NP WL p—
22 %3, 32 x4, 42 X5 -oemnev

What should come in place of question mark (?) in the following questions ?

23.25, 1395, 697.5, ?, 8370

01. 2750 02. 2790
03. 2810 04. 2850
05. 2820

e e gaar § wet=e (2) F S 9 7 AR 2

23.25, 1395, 697.5, ?, 8370

01. 2750 02. 2790
03. 2810 04. 2850
05. 2820

Solution for Question 52

eng

hi

Q-53

eng

X6, X 5, X4, X3 cceeeeem
X6, X 5, X4, X3 e

What should come in place of question mark (?) in the following questions ?

5, 10, 26, 50, 122, ?

01. 112 02. 110
03. 170 04. 119
05. 180



Q-53  fAwferfa gt e # wafees (2) F ©e a2 #747 S 2
hi

5, 10, 26, 50, 122, ?

01. 112 02. 110

03. 170 04. 119

05. 180

Solution for Question 53

eng 2241,324+ 1,52+ 1,72+1,112+ 1, 132+ 1
hi 2241,324+ 1,52+ 1,72 +1,112+ 1, 132+ 1
Q-54 ‘What should come in place of question mark (?) in the following questions ?
eng

37, 56, 94, 151, 227, ?

01. 222 02. 322

03. 156 04. 226

05. 70
Q-54 Ao et sEar § weate (2) F #9097 F47 SR 2
hi

37, 56, 94, 151, 227, ?

01. 222 02. 322

03. 156 04. 226

05. 70

Solution for Question 54

eng +19, +38, +57, +76, +95 ----
hi +19, +38, +57, +76, +95 ----
Q-55 What should come in place of question mark (?) in the following questions ?
eng

18.5, 13.5, 19, 13, 19.5, ?

01. 125 02. 13

03. 145 04. 155

05. 15
Q-55 fRwferfed e daar § wfee (2) F =0 9% 97 SR 2
hi

18.5, 13.5, 19, 13, 19.5, ?

01. 125 02. 13

03. 145 04. 155

05. 15

Solution for Question 55
eng -5,+5.5,-6,+ 6.5, -7 --—---

hi -5,45.5,-6,+ 6.5 , -7 -

Passage for Question 56, 57, 58, 59, 60 (ST-2078CRPPOMAINS(13-18M)2019)
eng Passage

Read the following information carefully to answer the questions asked-

Following table chart gives information regarding total population, overall literacy rate, literacy among males and females and per capita income of males and
females.

Per capita Per capita
Total Literacy Literacy income (in | income (in
population among among INR) among | INR) among
State (in crores) | Literacy (%) | males (%) | females (%) males females




T TT TS & SALA & forg Awferfas arasmh #1 saragd =+ a@-
et arfersT =ITe § et STEeAT, T8 qTeeaT 27, TR ST Aigare § AT siT Tuul ¥ Aigarsl &l T A7k T 6 a7 § Sl af 75

UP 272 20 85 68 48420 30200
MP 15.4 T4 o1 63 34600 19500
Bihar 20.8 64 79 53 32400 21400
Rajasthan 19 76 34 39 45900 33800
UK 12.95 62 74 39 62800 38540

hi Passage

2l
PIGE i
N | Akeeid | sfostE | dE(INR
T SATETE TERATe | WERAT® | ST (INR | ) Aigensit
=g (@S T) | T (%) (%) (%) ) i i
UP 272 80 85 68 48420 30200
MP 15.4 74 01 63 54600 19500
[ELIL 20.8 64 79 53 32400 21400
T 19 76 84 59 45900 33800
UK 12.25 62 74 30 62800 38540
Q-56 Find the total earnings of women from Bihar and Rajasthan. (in billion Rs.)
eng
01. 4623.04 02. 4263.34
03. 4343.14 04. 345324
05. 4824.74
Q-56 fageszTrSredTa & wiRg@ATSH A1 7 w7 wra Frvvey | (frga #)
hi
01. 4623.04 02. 4263.34
03. 4343.14 04. 345324
05. 4824.74
Solution for Question 56
e State M:F Total population Male Female
Up 12:05 212 192 3
MP 11:17 154 6.05 9.35
Bihar 11:15 208 38 12
Rajasthan 17:08 19 1292 6.08
UK 23:12 1225 8.05 42
37fiE IT=12x21400 +6.08x33800=462304 FUg=4623.04 ferfeta
H T EEE T e
Up 12:05 212 192 8
MP 11:17 154 6.05 9.35
foEm 11:15 208 88 12
e 17:08 19 1292 6.08
UK 312 12.25 8.05 42

37flE IT=12x21400 +6.08x33800=462304 FUg=4623.04 ferfeta



Q-57

eng

Solution for Question 57

Number of males in Bihar is approximately what percent more than the number of females from UK?

01. 115 02. 110
03. 125 04. 120
05. 105

g & qeut & wear UK & et £ dear & et fraar sfder sfaes g2

01. 115 02. 110
03. 125 04. 120
05. 105

= State MF Total population Male Female
UP 12:05 272 19.2 §
MP 11:17 154 6.05 9.3
Bihar 11:15 2038 38 12
Rajasthan 17:08 19 12.92 6.08
UK 23:12 12.25 8.05 4.2
Required answer= 8'84_;1'2 %100 = 110%
B T VE=F ™ e
UP 12:05 212 19.2 8
MP 11:17 154 6.05 933
faem 11:15 208 88 12
RELYIC) 17:08 19 12.92 6.08
UK 23:12 12.25 8.05 42
anefe 3= 8'84_:"3 x100 = 110%
Q-58 Find the difference of average number of males and females from all five states. (in crores up to two decimal point)
eng
01. 324 02. 327
03. 2.84 04. 408
05. 3.07
Q-58 Tt uiw TToAT 7 RO ST wigATet ¥ AT HEAT FT ST AT HSA| (FUE § IATAT F 18 AT {945 TF)
hi
01. 324 02. 327
03. 2.84 04. 408
05. 3.07
Solution for Question 58
e State MF Total population Male Female
UP 12:05 272 192 8
MP 11:17 154 6.03 9.33
Bihar 11:15 208 8.8 12
Rajasthan 17:08 19 12.92 6.08
UK 23:12 1225 8.05 42
Required answer=11.004-7.926=3.078
B T MF |3 oad e e
UP 12:05 212 19.2 8
MP 11:17 154 6.05 0335
faem 11:15 208 88 12
HELIC] 17:08 19 12.92 6.08
UK 23:12 12.25 8.05 42




Ifie II=11.004-7.926=3.078

Q-59

eng

Find ratio of difference of male and females from MP and Rajasthan.

01. 232:1837 02. 59:444
03. 115:892 04. 172:1131

05. None of these
MP 3T TTSTEIT 8 &Y ST AIRATAN o AT T SATATT AT HITord |

01. 232:1837 02. 59:444
03. 115:892 04. 172:1131
05. None of these

Solution for Question 59

e State MF Total population Male Female
Up 12:05 212 10.2 8
MP 1117 154 6.05 9.35
Bihar 11:15 208 88 12
Rajasthan 17:08 19 12.92 6.08
UK 2312 1225 8.05 4.2
Required ratio=(9.35-6.05) : (23.92-6.08)=3.3:17.84=115:892
B T VT e e
UP 12:05 212 19.2 8
MP 11:17 154 6.05 935
fawR 11:15 208 83 12
e 17:08 19 12.92 6.08
UK 2312 12.25 .05 42
anefie STgUTE=(9.35-6.05) : (23.92-6.08)=3.3:17.84=115:892
Q-60 Total earning of population of Rajasthan is approximately what percent of total earning of population of UP?
eng
01. 72 02. 65
03. 68 04. 75
05. 58
Q-60 TSI T STAHEAT il F/T AT ITAL TS T STAHEAT T el AT T T T TIq90d 52
hi

01. 72 02. 65
03. 68 04. 75
05. 58

Solution for Question 60

= State M:F Total population Male Female
up 12:05 212 19.2 8
MP 11:17 154 6.0 9.35
Bihar 11:15 208 88 12
Rajasthan 17:08 19 12.92 6.08
UK 2312 1225 8.0 4.2
Total earning of population of Rajasthan=12.92x45900+6.08x33800=798532
Total earning of population of UP=19.2x48420+8%30200=1171264
Required answer= T =100 = 68%
1171264
hi

MF | F@omEn T Ll

o

R
UP 12:05 272 19.2 8
MP

11:17 154 6.05 9.35




Q-61

eng

Tl | 54 5] 0.8 8.4
LELYICH 17:08 19 12.9
UK 2312 12.25 8.05 4.2

L)
L=
=
oo

o

TSTEIT T SIEEAT 1 Fit FATS = 12.92 x 45900 + 6.08 x 33800 = 798532
T 2T et TS = 19.2 x 48420 + 8 x 30200 = 1171264

_ 798532
AP IT= x100 = 68%
1171264

In two alloys P and Q the ratio of iron to silver is 5:4 and 7:2respectively. 27 kg of the alloy P and 36 kg of the alloy Q are mixed together to form a new
alloy. What will be the ratio of iron and silver in the new alloy?

01. 43:14
03. 27:36

05. None of these
T o0 aTqel P 3T Q W AT T ATGl & ST FAL: 5:4 32 7: 2 §1 27 ThaArmm fesr g P 7 3i¥ 36 e v amg Q & & 71 iy org
% w9 7 fHtaa T Smar g1 70 [ ong § g siY FTE 7 SIqqTd FAT g2

02. 43:20
04. 36:27

01. 43:14 02. 43:20
03. 27:36 04. 36:27
05. it & e T

Solution for Question 61

eng

Q-62

eng

Total Quantity of iron=5/9x27 + 7/9x36=15+28"P43
Total Quantity of silver=4/9x27 + 2/9x36=12+8"920
Ratio=43:20

AR AT e AT =5/9%27 + 7/9x36=15+28"P43
STt Y T T =4/9%27 + 2/9x36=12+8"P20
U =43:20

A man deposited a total amount of Rs. 27500 with a bank in two different schemes at 20% p.a. interest being compounded annually. As per the schemes,
he gets the same amount after 4 years on the first deposit as he gets after 3 years on the second deposit. How much money did he deposit for 3 years ?

01. Rs.14,000 02. Rs.16,000
03. Rs.13000 04. Rs.17000
05. Rs.15000

TS STEHT 7 27500 %. F¥ T T U A AT 37 AT 31eT ATor=130 H ST 3 20% AT T =Tohgfag =377 7 I & 5377 T2 FA &, ST F2dT 2
TISTATSA AT, IH TGl STHT T T 4 T o F7F dal 18 (HeAdt g S 7o 37 ot ST Tisr a2 3 |47t a7 Herdt 1 3997 3 &7t % forw
[ERCIRCISEIRER I

01. = 14,000 02. = 16,000
03. =.13000 04. = 17000
05. =.15000

Solution for Question 62

eng

Q-63

eng

P1(1+r1/100)* = P2(1+r1/100)°
=>P1/P2=5/6
Required amount = (6x27500)/11 = Rs.15000

P1(1+r1/100)* = P2(1+r1/100)>
= P1/P2 =5/6
anfiE gfET = (6x27500)/11 =%.15000

A merchant has 800 kg of sugar, a part of which he sells at 20% profit and the rest at 16% profit. He gains 18.5% on the whole. Find the quantity sold at
16% profit ?

01. 300Kg
03. 800Kg
05. None of these

02. 500 Kg
04. 750 Kg



Q-63  UF AT % U9 800 Fhetrume =T 2, et e e a7 20% @7 % 37T ATt 16% ATH 9% S=d1 81 98 HA 18.5% AT ITH FeaT gl 16%
hi AT 9 =T TS {TAT ST hiforar?

01. 300 fFITo 02. 500 fFITo
03. 800 fFITo 04. 750 fFITo
05. =9 ¥ F1E AT
Solution for Question 63
eng Let the part be x kg which is sold at 16% profit then other part will be (800-x)kg
Then from question (800-x)x 08 xx 16— 800x2 65
100 100 100
Then x=300kg
hi THT 16% AT X =it T8 7T x fohedl IT9 & e 919 977 (800-x) forum awft
THY (800-0x 2+ xx 16 —goox18S
100 100 100
& x= 300 forzm

Q-64 The ratio of speeds of a goods train and passenger train is 17 : 14in the same direction. If the passenger train crosses the goods train in 75 seconds, while a

eng passenger in the passenger train observes that he crosses the goods train in 50 seconds. Find the ratio of length of goods train to passenger train?
01. 12 02. 13
03. 2:1 04. 3:1
05. 34

Q-64 | fZerm | ST TET UF ATANIET ST AT o T A 7 ST 17:14 1 T AT 27 75 Fhe H ATEETTET T T FIAT &, STt AT 2 7 937
hi TF AT I@AT g FF 9 50 AT § ATERTST &1 I F3dT 81 AICRITET T ST T AT 37 T 7S 8 AT 31 hirord ?

01. 12 02. 13
03. 21 04. 3:1
05. 34

Solution for Question 64

eng Let the Speed of Goods train = 17x m/sec.
Speed of the Passenger train = 14x m/sec
Relative speed in the same direction = 17x — 14x = 3X m/sec.
Total Length (goods + passenger) = 3xx 75 =225x m
Now, For Goods train; Relative Speed = 17x— 14x =3x m/sec.
Length of the Goods Train = 3x x 50 = 150x m
Therefore, Length of the Passenger Train = 225x — 150x = 75x m
Hence Required Ratio = 150x: 75x = 2:1

hi T ATRTE! =7t = 17x WA,
It o S =T = 14x HL/AL
T T3 § |me =ret = 17x — 14x = 3x AL
H ATEITE (HTTHTIES + AT &) = 3x x 75 = 225X H.
ST, HICTTET % foTT; |Tves =Tef = 17x— 14x = 3x HL/AL
IS hl IS = 3x x50 = 150X H.
37, AT o T RIS = 225x — 150x = 75x .
A T IIUTT = 150x: 75x = 2: 1

Q-65 Prakash, Sunil, and Anil started a business jointly investing Rs.11 lakhs, Rs.16.5 lakhs and Rs.8.25 lakhs respectively. The profit earned by them in the

eng business at the end of the three years was Rs.19.5 lakhs. What will be the 50% of Anil’s share in the profit?
01. Rs.450000 02. Rs.220000
03. Rs.275000 04. Rs.225000

05. None of these
Q-65  THTIMFAIA T A THATT HAFT FHIA: .11 AT, %.16.5 AT 3T %.8.25 AT AT T U HAGHATT TET Fd & | 376 G A a9 & o
hi H o1fSTa o 1 A7 £.19.5 7@ oA | it 3 vy § e T 50% 4 g 2



01. = 450000 02. = 220000
03. % 275000 04. = 225000
05. =% F F1E AT

Solution for Question 65

eng

Q-66

eng

Q-66

hi

Ratio between their equivalent capitals

= 1100000 x 36 : 1650000 % 36 : 825000 x 36
=11:165:825=4:6:3

Anil’s share = %x 1950000= Rs. 450000

50% of Anil’s share

50% = Rs. 225000

3eh! G qiSET § ST

= 1100000 % 36 : 1650000 x 36 : 825000 x 36
=11:165:825=4:6:3

A ot fewmm = %leSOOO(): Rs. 450000
sifrer & e %1 50%

% 225000

In the following questions, two equations x and y are given. You have to solve both the equations and give answer.

L (41)2— 1139+ 67 =x x 64
ILy>+y-30=0

01. X>y 02. Xzy
03. x<y 04. XSy

05. x =y or the relation cannot be established

Araforfag vt 8, ST adisTon § x sh Ty fATTu ) srost A7 aH rHeon FTZAFTATE A TTFT FTITTIATRI

L (41)2— 1139 = 67 = xx64
ILy2+y-30=0

01. x>y 02. Xzy
03. x<y 04. XSy
05. x =y IT Harer TITIUT A1 AT ST FeheT

T

Solution for Question 66

eng

Q-67

eng

L (41)2— 1139 + 67 = xx64
x = 1664/64 =26
ILy2+y-30=0
y2+6y—5y-30=0
(y+6)(y-5 =0

y=-6,5

L (41)2— 1139 = 67 = xx64
X = 1664/64 = 26
ILy>+y-30=0
y>+6y—5y-30=0
(y+6)(y-5)=0

y=-6,5

In the following questions, two equations x and y are given. You have to solve both the equations and give answer.

Lx3-133= [56% of 1250] +4 + 1331 + 124x9 +2

ILy?-y-72=0
01. X>y 02. XEy
03. x<y 04. XSy

05. x =1y or the relation cannot be established

Aot vt &, ST aHTHTon & x sty fET T ) srasT A1 aHH N FT A FLATE MITT HTITALIATEI

Lx3 - 133 =[1250 T 56%] =~ 4 + 1331 + 124x9 + 2



ILy?-y-72=0

01. x>y 02. XEy
03. x<y 04. XSy
05. x =y =T Heel TATMA Al AT ST HehalT

Solution for Question 67

eng L x3 - 133 = [56% of 1250] + 4 + 1331 + 124x9 + 2
x> — 133 =175 +1331 + 558
x> =2197
x=13
ILy?-y-72=0
Y -9y +8y-72=0
(y-9(y+8) =0

y=9,-8
hi L x3 - 133 = [56% of 1250] + 4 + 1331 + 124x9 + 2
x> — 133 =175 +1331 + 558
X =2197
x=13
ILy?-y-72=0

Y —9y+8y—72=0
N+ =0
y=9,-8

Q-68 In the following questions, two equations x and y are given. You have to solve both the equations and give answer.

eng
L2x2-x-66=0

IL3y?-5y-42=0

01. x>y 02. XEy
03. X<y 04. X<y

05. x =1y or the relation cannot be established

Q-68 frufafag wari &, 3T Wi+ & x sh Ty fRTww &) srasT 41 T rH o FT A FIATE ST TT FTIATIATRN

L2x2-x-66=0
IL3y?-5y-42=0

01. x>y 02. XEy
03. x<y 04. XSy
05. x =y T Fayg &ATOq Tt 6T ST Fohe

Solution for Question 68

eng L2x%-x-66=0
2x2—12x + 11x— 66 =0
2x(x-6) + 11(x-6) =0
2x +11)(x-6)=0
x=-11/2,6
IL3y?-5y-42=0
3y2- 14y + 9y -42=0
3y(y+3) — 14(y+3) =0
Gy-14)(y+3)=0
y=14/3,-3

hi L2x%-x-66=0
22— 12x+11x—66 =0
2x(x-6) + 11(x-6) =0
2x+11)(x-6)=0
x=-11/2,6
IL3y2-5y-42=0
3y2- 14y + 9y -42=0
3y(y+3) - 14(y+3)=0
(By-14)(y+3)=0
y=14/3,-3



Q-69 In the following questions, two equations x and y are given. You have to solve both the equations and give answer.

eng
Lox+4y=4x+7Ty

IL 5x + 3y + 5=2x + 5y

01. X>y 02. Xzy
03. x<y 04. xSy

05. x =1y or the relation cannot be established

Q-69 frafafag wai &, ST aHIHL & x sty AT AT srashT ST @H TH O HT A FLATE SHITTFTIALIATRI

Lox+4y=4x+T7Ty
IL 5x + 3y + 5=2x+ 5y

01. x>y 02. xzy
03. x<y 04. XSy
05. x =y 7T Harer TITIUT 71 FFAT ST Tl T

Solution for Question 69

eng L 6x+4y=4x+7Ty
2x =3y
2x =3y =0--(1)
IL 5x + 3y + 5=2x + 5y
3x-2y+5=0--(2)
Solving eq. (1) & (2)

x=-3,y=-2
hi Lox+4y=4x+T7y
2x =3y

2x -3y =0--(1)

I 5x + 3y + 5 =2x + 5y
3x-2y+5=0--(2)
Solving eq. (1) & (2)
x=-3,y=-2

Q-70 In the following questions, two equations x and y are given. You have to solve both the equations and give answer.

eng
I. [(40)3 = 80x16]+25 = 32x
1L y/1089 = 64/y

01. x>y 02. Xzy
03. x<y 04. XSy

05. x =1y or the relation cannot be established

Q-70 frufafeag wari &, T Wi+ ® x sty fRT T ) srasT A1 THTHTO FT A FIATE SHTTT FTIATIATRN

L [(40) + 80x16]+25 = 32x
1. y/1089 = 64/y

01. x>y 02. x>y
03. x<y 04. X<y
05. x =y T &g BATUT Tl (67T ST THAT

Solution for Question 70

eng L. [(40)3 + 80x16]+25 = 32x
(800%x16) + 25 = 32x
x=16
11 y/1089 = 64/y
y2 = 64x1089
y =264, -264

hi L. [(40)3 + 80x16]+25 = 32x
(800x16) + 25 = 32x
x=16
IL y/1089 = 64/y
¥2 = 64x1089
y =264




Passage for Question 71, 72, 73, 74, 75 (ST-101 CWEPOPRE (41-45) 2015)
eng Passage

Read the following graph carefully and answer the questions given below?

Three different flowers breed by a man in 5 different months (In thousands)

® Dahlia ®Sunflower © Rose

35

30 30
30
25 25
£ 775
20 20
20 75
15 15 15 15
15 —
10
10 75 z i
5 1 =
0 - T T T T d
July August September October November
hi Passage

30 0 9T T eAEE 9ie v siY AefertEd wer v 39w O -
5 fafsrer w7g ® v A g s Ty i e g@ i @ (@em H)

g W greret e

35
30

30
25

25

30
25
225
20 20
20 75
15 15 15 15
15
10

10 +— - —
5 1 :i . -
0 - T . T T s

S[eTE e Ry FgaT Ea

Q-71 What is the respective ratio of total number of flower breed by the farmer in the month July to that of in month October?
eng

01. 9:30 02. 19:13
03. 19:30 04. 29:30
05. 29:13

Q-71 TS ATE 7 FZAT ATe H AT G107 ST T KA AT 01§41 H FHHL: FT A7 & 2

01. 9:30 02. 19:13
03. 19:30 04. 29:30
05. 29:13

Solution for Question 71

eng Ratio=47.5:75
=475 :750
=19:30

hi FqITT = 47.5: 75
=475 :750
=19:30

Q-72  What s the average number of Rose breed by the Farmer in all the months?

eng
01. 18900 02. 21000
03. 23560 04. 24000
05. 26760

Q-72  F¥T ATE H AT T S U AT T A HedT #4182
hi

01. 18900 02. 21000
03. 23560 04. 24000



05. 26760
Solution for Question 72

eng 105

Average number= ———
5

=21000

s e = 195 = 21000
5

Q-73 What is the approximate percentage decrease in breeding of Sun-flower from the month October to November?
eng

01. 25% 02. 28%

03. 37% 04. 42%

05. 45%
Q-73  FET | TG HIE H GISTHET & |l H ATHT fohael Tierd FHHT a1 8 2
hi

01. 25% 02. 28%

03. 37% 04. 42%

05. 45%

Solution for Question 73

en 2.5
g Percent decrease = 12.5 w100

= 42% (approx.)

yidera Ft = 123 1 0= 42% (awTeT)
30

Q-74 What is the total number of flowers breed by the farmer in the month September and October?
eng

01. 104 thousand 02. 111 thousand
03. 127 thousand 04. 133 thousand

05. 140 thousand
Q-74  Toda 3T srogas e # T 5T7 ST 10 AT ¥ FH{eT SeAT FT 2
hi

01. 104 X 02. 11189
03. 127 89X 04. 133 39X
05. 140 ga1T¥

Solution for Question 74

eng Total number = 140 thousand

hi FHA G&AT = 140 ST

Q-75 What is respective ratio of sun flower breed by the farmer in the month August, September and November?
eng

01. 3:6:7 02. 6:3:7
03. 3:3:7 04. 3:7:6
05. 7:6:3

Q-75 e, ey ST Faww wTe § R 5T S T GISEE F Al 6 AT § HHeT: FT AT 62
hi

01. 3:6:7 02. 6:3:7
03. 3:3:7 04. 3:7:6
05. 7:6:3

Solution for Question 75

eng Ratio=7.5:15:17.5
=3:6:7
hi AU =7.5:15:17.5

=3:6:7



Q-76 Anjali alone can do a piece of work in x days and Shalu alone can do the same work in (x+5) days. If Anjali and Shalu together can complete the same

eng work in 11(1/9) days, then find the number of days complete the work by Anjali alone?
01. 25 days 02. 15 days
03. 10 days 04. 20 days
05. 24 days

Q-76  SiTfer st x oAl | W T FIAT ST T A At I (x + 5) AT H AT § | AT SAAer e oy Ferw 1 (1/9) oAt # e F: ww
hi FAAT &, TN AT G o7her FT 2T F2ed § fobery Foey ast?

01. 25fR 02. 5%
03. j0f 04. 20 fa
05. 24

Solution for Question 76

eng (1/x) + 1/(x+5) =9/100
Put the value of x =20 days

hi (1/x)+1/(x+5)=9/100
x=20f&

Q-77 A shopkeeper buys some pens, if he sells them Rs.13 per pen, his total loss is Rs.150 but on selling them Rs.15 per pen, his total gain is Rs.100. Then find
eng how many pens did he sell?

01. 100 02. 125
03. 150 04. 250

05. None of these
Q-77 UFTFEER %P UF @IAT &, ATE a8 T 97 13 F9 = T2 IHAT [ g1 150 FTF ZIdT 2, AThed T O 15 797 § = 2 IqHT H/ef ATH
hi 100 &9 21 A7 ATT ¥ T 39 ey 9 502

01. 100 02. 125
03. 150 04. 250
05. it & e T

Solution for Question 77

eng Difference in sales amount due to change in selling price = Rs.150 + Rs.100 = Rs.250
Difference in selling price per pen = Rs.15 - Rs.13 =Rs.2
Total pens sold = 250/2 = 125 pens

hi forshl Ao # TR o Hreor forshl TiRT # Sfa = 150 T + 100 T = 250 T
O o Torshl e o ST = 15 ¥ - 13 399 = 2 799
S O =TT = 250/2 = 125 97

Q-78 Aman and Bhanu walk from place P to Q at a speed of 10km/hr and 16 km/hr respectively. Bhanu after reaching Q immediately turns back so as to meet
eng Aman at R. What is the ratio of distance PQ and QR?

01. 12:5 02. 13:3
03. 34:9 04. 32.7

05. None of these
Q-78 W AT AT UF T P F Q TF FHaer: 10 Frei/=eT 7 16 Fohefi/ser it =1 ¥ Fod 81 9 Q T Tgad &l Q2 J99 & R 9% e % forg aroeg
hi FqT g1 PQ 3T QR T FIT T ST 4T 8?2

01. 12:5 02. 13:3
03. 349 04. 32:7
05. =8 ¥ FIS 75

Solution for Question 78

eng Distance travelled by Aman to meet point R = PQ + QR
Distance travelled by Bhanu to meet point R = PQ + QR
Time taken to meet are equal hence,
PQ+ QR i PQ-QR




Q-79

eng

Q-79

b 10

3PQ=13QR
PQ :QR=13:3

ITH T R e ug= ° =eft T gl= PQ + QR
R 510 e & fore =ifea g8t = PQ + QR
fore 9 @ gEy

PQ+QR PQ-QR
6 10
3PQ=13QR

PQ :QR=13:3

Raman invested some amount in Scheme ‘P’ which offer 20% CI p.a. while some amount in scheme ‘Q’ which offers 8% SI p.a. After 2 year ratio of
interest, earn from ‘P’ to ‘Q’ is 11:6.Amount invested by Raman in scheme ‘P’ is what percent of the amount invested by him in scheme ‘Q’?

01. 50% 02. 335%
03. 25% 04. 662%
05. 150%

THT Fg A AT P TFaer F2ar & o 9% Fog i s3TT i 20% Ft AT I J&q1iad @ Stath & 190 Fe1 'Q' 7 fHarer #ear g o
FTLTIT AT T 8% T ATIUH FX TEATTAT 21 2 T a8 'P' FTT WTH 4TS T 'Q' FTXT WTH 4TS H ST 11:6 &1 TS 'P' § T8 ZTeT fHarer it
AT TTfer AT Q! W ek gy fAerer Y v Trfer v feRae witrera 22

01. 50% 02. 33 1%

3
03. 25% 04. 66% %
05. 150%

Solution for Question 79

eng

Q-80

eng

Q-80

hi

Let amount invested in scheme ‘P” and amount invested in scheme ‘Q’ be ‘x” and ‘y’ respectively.

i B
120
*xl(755) 11 _ 11
2 =2
* Too
x X044 11

yx0.16 6

BB
¥ 3
. 2 2
Required%= = x 100 = 66-%

3 3

A d & st Arer P! # et <t At wfdr ofiw A 'Q' v farer &y 7S wfy shwwm: X' e 'y ®
*x((2) ) g
8 %2 S
5 100

x %044 _ 11

yx0.16 6

x 2
b4 3
AT gfawrd = 2 100 = 6629

3

A train is moving at a speed of 132 km/hr. If the length of the train is110 metres, how long will it take to cross a railway platform 165 metres long?

01. 7Y% sec 02. 8 Y% sec
03. 9 Y% sec 04. 11 Y% sec
05. 12 ¥ sec

U 2 132 Rt/ = o =t & e T 81 At 3 i arrs 110 Hiew 21 A A8 165 HieT o U Yo7 TlehTH U1 e % o o= =9 «fr?

01. 7% 3% 02. 8! TFe



03. 91, aFE 04. 11 %%
05. 12 %%




